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December 04, 2017

Nov 12­9:14 AM

3y + 6 = x
3y = ­2x + 3 

DO NOW

Solve the following system of equations by 
graphing.  Check your solution 

Nov 28­1:19 PM

Homework Answers 
1. A

2. C

3. y = ­x + 2 

    y = 2x + 2 
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y6. No solution
7. (2, 6)

8. (8, 11) 

9. (3, 0)

10. (1, 3)

5. (1, ­4)
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December 04, 2017

Nov 13­11:10 AM

EX 1: x – y = 7

    x + 3y = 3 

Nov 12­9:31 AM

EX 2: 3x – 2y = 1    
y – 10 = –2x 
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December 04, 2017

Jan 13­11:47 AM

EX 3:   y = –2x + 4

      4x + 2y  = 8

Nov 13­11:21 AM

EX 4: y + x = – 3

–x – y = 5
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